#2B %‘ﬂ

BEEY - B (B E

L.

— ~ EHBgE

3)

HA BT (A

BAR © BEEES

AR (Scos 6, 5sin 0) TEEIL (0, 0) 48R 5 WIE L
BEFEWNE |5sin0]=2

W BB RN =AEAE 4 8> BIA4BC, »
AABCQ )

&)

R
BAR
AT

@)

HR
BAR
AT

AABCy » AABC,
))

B (PG EMER) - IO (JEREEERR )
BEHYER « R4S

A TEREE 4R B

a 1
-2 b
Sab#—2=(a,b)#(—1,2) K 2,~1)
AR RIS (o, b) 3k 4 - 4—-2=1441
B3 -

’#0

SEUft ( Z=Refgaes
ZE R AT A
PEEAAE R (a, b, ¢) » Q BhRy P BT xy S _HAVIG
s B Q BEAAE R (a , b, 0)

B 2POQ=30"> £400=135"

P
2
135°
e []
0 0 A

FrlA
e= PQ =100xsin 30°=50 » . 00 =100xcos 30" = 50¢/3
a= 5@ xcos 135"

= 504/3 x[JZ—EJ =256
b= 0Q xsin 135°
= 50\/§><i2_2~ = 25:J6

P B4R (—2546 , 2546 , 50)
W) -

ZERTAAE R

4,

@)

HR
R RS
AR

8 4%

Hg
¢ BB SME ATRR R R R
AT

B4R

@)

HR
BA%
B

B (B

BT8R 10 Wl a+b=19

T4 (@—10° +1+(b—100+9> _ 144
5 5

= (a— 10+ (b—10)*=13

Xa=19~b (RABO—bY’+(b—10)’=13

= 20" —38b+168=0

= b*—19b+84=0

= (b—12)(b—T7)=0

= b=TH 12

Va<b C.a=T>b=12

@) -

= (HRELBIk R

log ((1))+log (f(2))+log (f(3)) +log (f(4))+log (f(5))
+1log (/(6))
=log (f(1)xf(2)x:+++-x f(6))

~Io log3x10g4x ''''' ><log8
log7

log2 log3
= log log8) _ log 3log2
log2 log2

B (ELREE)

(B E AR AR (%

B HEER LA WERY > T E
Ry (h, ) &k 5

Bl I #9ECs

P

P

W,

MBI ISR L AR BRAT 5% Ry 8 B4z > RIELLS
FIESR L HIRERE
d= |3h+4k—10} —3
e
=|3h+4k—10|=15
= 3h+4k—10=15 8, 3h+4k—10=—15
=> 3h-+4k=25 8¢ 3h+4k=—5



7. (1)

HR
BA%
AR

B L 3(x—D+4(y+2)—10=0
BB BB LR L' AEEHE
g 30—+ 4k +2)—10]|

N
_|3h+4k—5]
=l
_125-5] , |=5—5]
=T R
=482
BRIRy d'<5 » FbAIBEl I B4R L' AT WS

Q) -

SBUO < EISRH AR AR BLTE T )
PARA R R

RIGIYEGRATICERIEE > SR O SRERER DUSPATHY)
CRETTRIRAY T B AR ER AR - B O SRERFTISE)
AIBBTE Ry i BB 2 e > RE R

AT IE
A BHEAEG 7 FERER /N
HEIR
A
B
C
SR EApE
DE
HUEE(1) -
8. (3)
HR B (RGNS
BAR ¢ FHEBE ISR
A aytagtag=asta;
= aytag=as—agt+ay
= a(1+r)=as(1—r+1?
= 14r=
=f—r—1=0
Jﬁfﬁz(am‘au‘6110)+(ﬂ13_a10_09)+(012“a9—08)
=a(* —r—1)+as(r! —r— 1) +ag?—r—1)
=0
HUBEQ) -
=~ BB
9. (1))
HR B GRbBIR RS )
BAR ¢ TIRIEEERH R - SR BB R e
BESI
BRAT  y=2d"=d"" + a" = a""? By y=a" i x W EER
HI%ESR
a>1> il log,2>0 LM
0<a<1 Hllog, 2<0 fFEL
HOE)Q) -
10. (1)(3)
HR B PR RAER )
BAR ¢ ARG E

AT FVE P RSETIE RIS T8 - ) 0 O BB

11. (1)4)

Bk
A1 :

AT

12. 3)(5)

Bk
BB :
s

Y :
07
: 9/ |
)
B y O,
A
(0]
(1) -

SRV ( FERHELERIER )

FERHEGY 4 B
A+B~[4 -3
15 —4

Hi T

2 -7
A—B=
3 —10

3 -5 12
A= s B=
4 -7 13

WO B—Az—(A»—B):[:i 170]

o 2 9
@)X : ,AB_[_3 _13} BA

C[1r 19
15 —26

.. AB+#BA
@)X P 3 (-5 a=—10
Py | TIED (94

CMA_I_J{J 5]:[7 —5}
—1{—4 3| |4 -3
@O KO)
. ... oo
.2 g |11 20] [3 8
5.X:4 [—16 29 {4 11}
_[~14 12]
~[—20 18
HEE(1)d) -
B (PRI R ) - BB (HeR)
X+ F—3E
s 299
(Q)O) EEEAEESLLA R Rloaa = 0:0016<0.002
s 35
BRG] R YTIeT
I 28 56
jﬁ[ﬂ@ﬁ’]ﬁﬁwtb@ﬂ%ngﬁ“ YT
35
266439

@)X

.35 .35,
51O E>766'M
HEB)G) -

13. (DE)4)
Bk B (SR~ B (E R BEEA:
HE) ~ B GERIEPIRR R

BAR

BSE S DR 2

|




iy (DO y=x"+x+1= [x+%) +%

y=x2—100x+ 100 == (x— 50)* — 2400
BACIAE ~ A/MER @ BEEER g SR

@)X y=x 437+ 2+ 2=+ 1] —(x+1)+2
TG y=2"+x B

Ot y=1 2= R~

@) O : y=log (100x)=log x+2 &&PLFEEL G y=log x

et

(5) Xt y=sin (2x)—3 HYBEIAR = > y=sinx HYBHAR

2r o BRSNS
HBE(1)(3)d) -
=~ BHER
14, —1
HE B (STERED
B4 ¢ aRelER
mAr L EALA(D)=0 B/)=g() + @+2)++x+1)
Fik g(x) BB x—1 0988 & g(1) » A LHE
gl)=—1
Her A —1 -
15. 243 —242
HE SRV (2R A )
BA% | RS

AR+ U B ER CRER T = AT I = 243
ERS B RS BB B TE A 4R = 242

B DABE S SR L 2R 2 BB 243 — 242 HOBERE -
A

N 1
v .

B A%

16. 2
10

BA& B (Bl

B A% ¢ IEREBUM R R B e RE

A S n=10a+b (a0 H b B 0~9 AYIERED > HI
n__10a+b _ 9a

= +1
f@m a+b a-+b
> 9 -8
a9 a-+9
=9
> 8 =L
10 10

(a=1)
o s 19
En=190 Fﬁﬂiﬂid\{éfi’%ﬁ o
17. 18

B B (PR SRR )
BAR ¢ HERHEREE KRR RIEAE )

B

i TR N S
A X FH
B C X
D E F
RIZ, ~ WHIABEIT 0T

ZNE A | WA CDEF
ZANEB | WA EF
ZNE C | AEE ADF
ZABED | A ACF
ZANEE | WAKEAB
ZANEF | AR ABCD
=T 18

W2~ AT, 18 7E -

SN W W[N]

FRAES - RERESRIEREE

18.(3)
HR

B

AR

19. —
25

R

B A%
AT

PEEM CPEEEREM)
REEE[iRiEr
R C0, k)

E5 OC = J0— () P +(k—( =D} =5

B (k+1)*=9

DR k=2 B —4 (F &)

FIBL C(0,2) » RIZRES C ZRBLE T AB IRERER 2
) o

B CRERREER )
L A R AT
P

2 CO, =(4, —3)> 0O, =(—4,-3)
)4 bR EE CO, F CO, HIPIRE R 0

H MEEE CO, TE 4 i D Bk 8 CO, TE )
48 K E B
WE CD =(3,4) CE =(—3,4)
TR 0
G,4): (3,4 1
Bl cos 0= = .
. PR3 rar 25

7 AT
O]( —_4 ) :1)/

TET
Rk me =

~w

' Mgy, = v

YIIAIRIEEL CO, 711 CO, HIRlERAET R — 1

H]LIEEE CO, TE > )t F#Y D BE R 81 CO, BHZ )
Ay EEL
4

4
TR My, = 3 Me Ty



EHRPEVEAR 0

_4
E[Jtan@::.._—_é___:_z_i

0

7
cos = — o
S 25

O EH
Fik—
B CO, =4, —3)» €O, =(—4,-3)
(RALTEIA R 3 43)
4 -9 8 AL CO, A1 CO, HIPIREE 0
AL CO, TE > 43 1 D B 88 CO, TE > b4 1
it £ B
WE CD =(3,4)» CE =(—3,4)
(R T 3 49)

B4 (3,4 _7 .

HERHEITRA R 0 > Fll cos 0= =
EEE S cos \/32+42 \/(_3)2+42 25

(4 5y EHESTEIEHITRETIGRE R - AIRERE A EUE
2

FHikE
By mep = % ' Mg, = —-S— (RIYDERAIRIERSE 3 47)
EN4HIRISRERER CO, 71 CO, HIRIZAHTR Ky — 1

] UERER CO, T 143 iy D B 81 CO, i i4a b
i E B »

TR Mgy, = % Y M = w% (RIEDERHTRIREL 3 43)

BT R 0
a4
- 3 3 _ 24
ﬁUtanH—W_T(Zﬁ)
333
005 0= -+ (2 )0 tan 0 BRI S U

A EIER)




